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39.
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39.
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39
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.02
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+
(@) o o o o o o
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.22
.22
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( 0.02, .06, 0.2, 0.6, 2 6 nf
cyproheptadine 1 X 10~-T
(P < 0.05) '
0.02 f
5 4 6
2.3 ? ? N
& verapami 1
T verapamil 5 X 10"a
0.02, 0.06, 0.2, 0.6, 2
6 ' verapamil 5 X 10 a
A
0.02, 0.06, 0.2, 0.6 0 ? -
A ?

? (P <0.05 -

2 6 ? verapamil
5 X 10"B n
2 6 ?
(P < 0.05) ?
] 7 6
8
3 ? -}? A ?
1 /\ |
9
0.02, 0.06, 0.2, 0.6, 2 6
? N

30 TMacke ?
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Spontaneous Contraction # 30 #
' ? atropine 1 x 10~7 #
atropine 1 x 10~7 #
#'1 " # , A # # < < 0.05)
1?2 # # # # 9
# # 6 # 10
4 # ? A #
.m
# 1 #
cumulative dose 0.02 ‘ #
A #
6 # # #
30 # # # # Krebs
3-5 A # #
30 #
4. 1 # ?' A
# # atrop ine
# atropine 1 x 10~7
# atropine 1 X 10~7
A # # # (P < 0.05)
# 1 # '# 4
# 12
4.2 ?# A #
# # cyproheptad ine
cyproheptadine 1 x 10-7
# 0.02, 0.06, 0.2, 0.6, 2 6
cyproheptadine 1 x 10~7
# # # < < 0.05)
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«
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«

«

«
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#

0.02, 0.06, 0.2, 0.6, 2 6 cyproheptadine
1x 10T 8
<p < 0.05)
0.02 5
. 18
5.3 ?
verapamil
19 verapamil 5 X
10 a
cumulative dose
0.02, 0.06, 0.2, 0.6, 2 6 verapamil
5 x 10"8 8
0.02, 0.06, 0.2 (P < 0.05)
0.6, 2
6 verapamil 5 X 10-a
0.6, 2 6 ' (P < 0.05)
8
6. ? ?
1 control
2 10 '
’ 3
control 63.94 + 1.35% 2
10 ' '
65.72 + 2.32% 1
<p > 0.05)
100 '
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58.92 + 1.99% | ft control *
100 Al
? ' 21 (P > 0.05) to?
? 100 ? '
70.38 + 3.26% ?
(P > 0.05) ?
7- ?
7.1 ?
|
| ? 3 10
0.06, 0.6 6 21
b 3
I ? ?
0.06
15
I 0.6 6
30 1
0.06
(systolic) 16.92 + 4.49% (diastolic)
25.85 + 4.92% I
0.6 6 28.65
+ 1.56 39.18 + 1.92% 41.18 + 3.18£
52. 18 + 1.86% atropine 3

3 1

' 2 (P < 0.05) 22 23
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fi 3 fi

?$ : ! ( :
fi 2 10 T f
i
3 100 f f
P
4 ' 100 ' f

mean + S.E.

fi 1 fi 2 fi s fi 4

(=1 ( =19 ( =15 ( =10

( .) 37.87+0.93 36.33+0.58 35.66+1.02 32.87+0.89
( .) 24.25+1.00 23.83+0.87 20.96+0.83 23.08+1.12
63.94+1.35 65.72+2.32 58.92+1.99 70.38+3.26
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aorta acetylcholine 10~a
A aorta
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0.02, 0.2
2 *
3
5
I
0.02 8.40 + 0.94% 0.2
14.16 + 1.55% 2

# 35.49 + 4.60%

0.02

7.10 + 2.18%

9.99 + 1.78%
atropine
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100%
0.2
2

(P < 0.05)
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